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INTERNATIONAL AND AREA STUDIES   

Paper – II 
 

Note : This paper contains fifty (50) objective type questions, each question carrying two (2) 

marks. Attempt all the questions.  
 

1. The Systems Theory is propagated by 

 (A) David Easton (B) Mortan Kaplan 

 (C) Robert Dahl (D) H.J. Morgenthau 
 

2. The Ottawa Treaty was signed in 1977 for the elimination of the following : 

 (A) Anti-Personnel Landmines (B) Nuclear Weapons 

 (C) Biological Weapons (D) Chemical Weapons 
 

3. Which one of the following countries initiated ‘Nuclear Stewardship Program’ ? 

 (A) USA (B) UK (C) France (D) China 
 

4. India became a member of ARF in 

 (A) 1993 (B) 1994 (C) 1995 (D) 1996 
 

5. Indo-China Communist Party was born in 

 (A) 1927 (B) 1930 (C) 1935 (D) 1942 
 

6. India-ASEAN Annual Summit started for the first time in 

 (A) 1995 (B) 2002 (C) 2003 (D) 2004 
 

7. Who propounded the US strategy of Massive Retaliation ? 

 (A) John Foster Dullas (B) Henry Kissinger 

 (C) Robert S. McNamara  (D) James Baker 
 

8. Monroe Doctrine is applied for 

 (A) Africa (B) West Asia (C) Latin America (D) South Pacific 
 

9. Rykjavik Summit took place between the following : 

 (A) George Bush – V. Putin  

 (B) Ronald Reagan – Mikhail Gorbachev 

 (C) George Bush (Jr) – Boris Yeltsin  

 (D) Ronald Reagan – Boris Yeltsin 
 

10. Where was the latest SCO Summit (2008) held ? 

 (A) Moscow (B) Shanghai (C) Dushanbe (D) Tashkent 
 

11. The new Amendment to the Russian Constitution extended the tenure of the President 

to 

 (A) Six years (B) Four years (C) Seven years (D) Eight years 
 

12. North-South corridor is a transport corridor that connects   

 (A) Russia – China – India  

 (B) Russia – Iran – India 

 (C) Russia – Turkmenistan – India  

 (D) India – Pakistan – Iran 
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†ÓŸÖ¸üÖÔÂ™ÒüßµÖ ‹¾ÖÓ �Öê¡ÖßµÖ †¬µÖµÖ−Ö  
¯ÖÏ¿−Ö¯Ö¡Ö – II 

 

−ÖÖê™ü : ‡ÃÖ ¯ÖÏ¿−Ö¯Ö¡Ö ´Öë ¯Ö“ÖÖÃÖ (50) ²ÖÆãü-×¾Ö�ú»¯ÖßµÖ ¯ÖÏ¿−Ö Æïü … ¯ÖÏŸµÖê�ú ¯ÖÏ¿−Ö �êú ¤üÖê (2) †Ó�ú Æïü … ÃÖ³Öß ¯ÖÏ¿−ÖÖë �êú ˆ¢Ö¸ü 
¤üß×•Ö‹ … 

 

1. ¾µÖ¾ÖÃ£ÖÖ¯Ö¸ü�ú ×ÃÖ¨üÖ−ŸÖ �úÖ ¯ÖÏ×ŸÖ¯ÖÖ¤ü−Ö ×�úµÖÖ  
 (A) ›êü×¾Ö›ü ‡ÔÃ™ü−Ö −Öê (B) ´ÖÖê™Ôü−Ö �úÖ¯»ÖÖ−Ö −Öê 
 (C) ¸üÖê²Ö™Ôü ›üÖ»Ö −Öê (D) ÆüÖ−ÃÖ •Öê. ´ÖÖê0Öì−£ÖÖ‰ú −Öê 
 
2. 1977 ´Öë †Öê™üÖ¾ÖÖ ÃÖÓ×¬Ö ¯Ö¸ü ×−Ö´−ÖÖÓ×�úŸÖ �úÖê 7ÖŸ´Ö �ú¸ü−Öê �êú ×»ÖµÖê ÆüÃŸÖÖ8Ö¸ü Æãü†Ö : 
 (A) ´ÖÖ−Ö¾Ö ´ÖÖ¸ü�ú ÃÖã̧ Óü0Öë  (B) −ÖÖ×³Ö�úßµÖ Æü×£ÖµÖÖ¸ü  
 (C) •Öî×¾Ö�ú Æü×£ÖµÖÖ¸ü  (D) ¸üÖÃÖÖµÖ×−Ö�ú Æü×£ÖµÖÖ¸ü  
 
3. ×−Ö´−Ö×»Ö×7ÖŸÖ ¤êü¿ÖÖë ´Öë ×•ÖÃÖ−Öê ‘−µÖæÛŒ»ÖµÖ¸ü Ã™êü¾ÖÖ›Ôü×¿Ö¯Ö ¯ÖÏÖê0ÖÏÖ´Ö’ ¯ÖÏÖ¸ü´³Ö ×�úµÖÖ : 
 (A) †´Öê×¸ü�úÖ (B) ×²ÖÎ™êü−Ö  (C) ±ÏúÖÑÃÖ  (D) “Öß−Ö  
 
4. ³ÖÖ¸üŸÖ ‹.†Ö¸ü.‹±ú. �úÖ ÃÖ¤üÃµÖ ²Ö−ÖÖ : 
 (A) 1993 ´Öë (B) 1994 ´Öë (C) 1995 ´Öë (D) 1996 ´Öë 
 
5. ×Æü−¤ü“Öß−Ö ÃÖÖ´µÖ¾ÖÖ¤üß ¤ü»Ö �úÖ •Ö−´Ö Æãü†Ö  
 (A) 1927 ´Öë (B) 1930 ´Öë (C) 1935 ´Öë (D) 1942 ´Öë 
 
6. ³ÖÖ¸üŸÖ-†Ö×ÃÖµÖÖ−Ö ¾ÖÖÙÂÖ�ú ×¿Ö7Ö¸ü ÃÖ´´Öê»Ö−Ö ÃÖ²ÖÃÖê ¯ÖÆü»Öê ¯ÖÏÖ¸ü´³Ö Æãü†Ö  
 (A) 1995 ´Öë (B) 2002 ´Öë (C) 2003 ´Öë (D) 2004 ´Öë 
 
7. †´Öê×¸ü�úß ‘†×ŸÖ¿ÖµÖ ×¾Ö¿ÖÖ»Ö ¯ÖÏ×ŸÖ�úÖ¸ü �úß Ã¡ÖÖŸÖ•Öß’ �úÖ ×�úÃÖ−Öê ¯ÖÏ×ŸÖ¯ÖÖ¤ü−Ö ×�úµÖÖ ? 
 (A) •ÖÖò−Ö ±úÖÃ™ü¸ü ›ü»ÖÖÃÖ (B) Æêü−Ö¸üß ×�úØÃÖ•Ö¸ü  
 (C) ¸üÖò²Ö™Ôü ‹ÃÖ. ´Öî�ú−ÖÖ´ÖÖ¸üÖ  (D) •Öê´ÃÖ ²Öê�ú ü̧  
 
8. ‘´Öã−Ö¸üÖê’ ×ÃÖ¨üÖ−ŸÖ ×�úÃÖ 8Öê¡Ö �êú ×»ÖµÖê ¯ÖÏµÖãŒŸÖ Æîü ?  
 (A) †±Ïúß�úÖ  (B) ¯ÖÛ¿“Ö´Ö ‹×¿ÖµÖÖ  (C) »Öî×™ü−Ö †´Öê×¸ü�úÖ  (D) ¤ü×8ÖNÖ ¯ÖÏ¿ÖÖ−ŸÖ 8Öê¡Ö  
 
9. ×¸ü�îú×¾Ö�ú ×¿Ö7Ö¸ü ÃÖ´´Öê»Ö−Ö ×−Ö´−ÖÖÓ×�úŸÖ �êú ²Öß“Ö Æãü†Ö ? 
 (A) •ÖÖò•ÖÔ ²Öã¿Ö  – ¾Öß. ¯Öã×ŸÖ−Ö  
 (B) ¸üÖê−ÖÖ»›ü ¸üß0Ö−Ö  – ×´Ö7ÖÖ‡»Ö 0ÖÖê²ÖÖÔ“Öê¾Ö  
 (C) •ÖÖò•ÖÔ ²Öã¿Ö (�ú×−ÖÂšü)  – ²ÖÖê×¸üÃÖ µÖê»ŸÖ×ÃÖ−Ö   
 (D) ¸üÖê−ÖÖ»›ü ¸üß0Ö−Ö  – ²ÖÖê×¸üÃÖ µÖê»ŸÖ×ÃÖ−Ö  
 
10. ÆüÖ»Ö Æüß ´Öë ‹ÃÖ.ÃÖß.†Öê. ×¿Ö7Ö¸ü ÃÖ´´Öê»Ö−Ö (2008) Æãü†Ö  
 (A) ´ÖÖÃ�úÖê ´Öë (B) ¿ÖÓ‘ÖÖ‡Ô ´Öë (C) ¤ãü¿ÖÖ−Ö²Öê ´Öë (D) ŸÖÖ¿Ö�ú−¤ü ´Öë 
 
11. ºþÃÖß ÃÖÓ×¾Ö¬ÖÖ−Ö �êú −ÖµÖê ÃÖÓ¿ÖÖê¬Ö−Ö �êú ´ÖãŸÖÖ×²Ö�ú ¸üÖÂ™Òü¯Ö×ŸÖ �úÖ �úÖµÖÔ�úÖ»Ö ×�úŸÖ−Öê ¾ÖÂÖÔ ×�úµÖÖ 0ÖµÖÖ ?  
 (A) ”û:û ÃÖÖ»Ö  (B) “ÖÖ¸ü ÃÖÖ»Ö  (C) ÃÖÖŸÖ ÃÖÖ»Ö  (D) †Öšü ÃÖÖ»Ö  
 
12. ˆ¢Ö¸ü-¤ü×8ÖNÖ 0Ö×»ÖµÖÖ¸üÖ ‹�ú ‹êÃÖÖ µÖÖŸÖÖµÖÖŸÖ 0Ö×»ÖµÖÖ¸üÖ Æîü •ÖÖê •ÖÖê›ÍüŸÖÖ Æîü  
 (A) ºþÃÖ – “Öß−Ö – ³ÖÖ¸üŸÖ �úÖê   
 (B) ºþÃÖ – ‡Ô̧ üÖ−Ö  – ³ÖÖ¸üŸÖ �úÖê  
 (C) ºþÃÖ – ŸÖã�Ôú´Öê×−ÖÃŸÖÖ−Ö – ³ÖÖ¸üŸÖ �úÖê   
 (D) ³ÖÖ¸üŸÖ – ¯ÖÖ×�úÃŸÖÖ−Ö – ‡Ô̧ üÖ−Ö �úÖê  
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13. In which of the following locations did the August 2008 Conflict in the Caucasus 
involve Russia and Georgia ? 

 (A) North Ossetia (B) Chechnya 
 (C) South Ossetia (D) Nagorno-Karabakh 
 

14. Given below are four statements indicating that Russian Federation spreads across 
eleven time zones. Reason out the correct statement in the light of Russia’s 
geographical location. 

 (A) Russia is a European Power (B) Russia is an Asian Power 
 (C) Russia is a Eurasian Power (D) Russia is a Central Asian Power 
 

15. Who among the following is the first American Woman Secretary of State ? 
 (A) Condolezza Rice (B) Hillary Clinton 
 (C) Monica Lewinsky (D) Madeline Albright 
 

16. Chapter VIII of the UN Charter deals with 
 (A) Peace-keeping Operations (B) Human Rights 
 (C) Collective Security (D) Regional Arrangements 
 

17. Recent strain in Sino-Japanese relations happened due to 
 (A) Protectionist trade practices of Japan.  
 (B) Japan’s support to Taiwan Independence. 
 (C) Attack on Japanese tourists in China.  
 (D) Prime Minister Koizumi’s visits to Yasukuni shrine. 
 

18. ‘Zahal’ is related to the defence forces of 

 (A) Israel (B) Egypt (C) Syria (D) Jordan 
 

19. Who authored the book entitled ‘The End of History and the Last Man’ to explain the 
New World Order ? 

 (A) George W. Bush (B) Francis Fukuyama  
 (C) Samuel P. Huntington (D) Barack Obama 
 

20. Who among the following opined that ‘internal instability is like the lurking hood of a 
snake, which must be crippled’ ? 

 (A) Kautilya (B) J.F. Kennedy 
 (C) Woodrow Wilson (D) Nikita Khrushchev 
 

21. The Universal Declaration of Human Rights by the United Nations was done on 
 (A) 10 December 1948 (B) 24 December 1948 
 (C) 24 September 1948 (D) 23 September 1946 
 

22. ‘Tin Bigha Corridor’ has been a disputed tract between 
 (A) India and Pakistan (B) India and Bangladesh 
 (C) Canada and the USA (D) India and Bhutan 
 

23. ‘Critical Mass’ of a nation-state is a combination of 
 (A) Population and territory (B) Population and natural resources 
 (C) Territory and military hardware (D) Economic capability and wealth  
 

24. The term ‘Embedded Journalism’ came into popular usage during 
 (A) Gulf War I (B) Gulf War II 
 (C) Arab-Israel War – 1967 (D) Yom Kippur War – 1973 
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13. ×−Ö´−ÖÖÓ×�úŸÖ Ã£ÖÖ−ÖÖë ´Öë ÃÖê �úÆüÖÑ �úÖò�êúÃÖÃÖ ´Öë †0ÖÃŸÖ 2008 ´Öë Æãü‹ ÃÖÓ‘ÖÂÖÔ ´Öë ºþÃÖ †Öî̧ ü •ÖÖÙ•ÖµÖÖ ×³Ö›Íêü ? 
 (A) ˆ¢Ö¸ü †ÖêÃÖê×ŸÖµÖÖ  (B) “Öê“Ö×−ÖµÖÖ  
 (C) ¤ü×8ÖNÖ †ÖêÃÖê×ŸÖµÖÖ  (D) −Ö0Ö−ÖÖì �úÖ¸üÖ²ÖÖ7Ö  
 
14. −Öß“Öê ×»Ö7Öê 0ÖµÖê “ÖÖ ü̧ ²ÖµÖÖ−Ö ºþÃÖß ÃÖÓ‘Ö �êú ²ÖÖ¸êü ´Öë ¤ü¿ÖÖÔŸÖÖ Æîü ×�ú 0µÖÖ¸üÆü ÃÖ´ÖµÖ-8Öê¡Ö Æîü … ÃÖÆüß ²ÖµÖÖ−Ö �úÖ “ÖµÖ−Ö ºþÃÖ �úß 

³ÖÖî0ÖÖê×»Ö�ú †¾ÖÛÃ£Ö×ŸÖ �úÖê ¤êü7ÖŸÖê Æãü‹ �úß×•Ö‹ : 
 (A) ºþÃÖ ‹�ú µÖæ̧ üÖê¯ÖßµÖ ¿ÖÛŒŸÖ Æîü …  (B) ºþÃÖ ‹�ú ‹×¿ÖµÖÖ‡Ô ¿ÖÛŒŸÖ Æîü …  
 (C) ºþÃÖ ‹�ú µÖæ̧ êü×¿ÖµÖÖ‡Ô ¿ÖÛŒŸÖ Æîü …  (D) ºþÃÖ ‹�ú ´Ö¬µÖ ‹×¿ÖµÖÖ‡Ô ¿ÖÛŒŸÖ Æîü …  
 
15. ×−Ö´−Ö×»Ö×7ÖŸÖ ´Öë ÃÖê �úÖî−Ö †´Öê×¸ü�úÖ �úß ¯ÖÆü»Öß ´Ö×Æü»ÖÖ ÃÖê�Îêú™ü¸üß †Öò±ú Ã™êü™ü ¸üÆüß Æïü ? 
 (A) �úÖî−›üÖê»Öß•ÖÖ ¸üÖ‡ÃÖ  (B) ×Æü»Öȩ̂ üß ÛŒ»Ö−™ü−Ö  
 (C) ´ÖÖê×−Ö�úÖ »Öê×¾Ö−ÃÖ�úß  (D) ´Öê¤êü×»Ö−Ö †»Ö²ÖÎÖ‡™ü  
 
16. ÃÖÓµÖãŒŸÖ ¸üÖÂ™Òü “ÖÖ™Ôü¸ü �úÖ †Öšü¾ÖÖÑ †¬µÖÖµÖ ÃÖ´²ÖÛ−¬ÖŸÖ Æîü : 
 (A) ¿ÖÖÛ−ŸÖ Ã£ÖÖ¯Ö−Ö ÃÖÓ×�ÎúµÖÖ ÃÖê  (B) ´ÖÖ−Ö¾Ö †×¬Ö�úÖ¸ü ÃÖê  
 (C) ÃÖÖ´Öæ×Æü�ú ÃÖã̧ ü8ÖÖ ÃÖê  (D) 8Öê¡ÖßµÖ ¾µÖ¾ÖÃ£ÖÖ ÃÖê  
 
17. ÆüÖ»Ö ´Öë “Öß−Ö-•ÖÖ¯ÖÖ−Ö ÃÖ´²Ö−¬Ö ´Öë �ú™ãüŸÖÖ �úÖ �úÖ¸üNÖ Æîü  
 (A) •ÖÖ¯ÖÖ−Ö �úß ÃÖÓ̧ ü8ÖNÖ¾ÖÖ¤üß ¾µÖÖ¯ÖÖ¸ü −Öß×ŸÖ  
 (B) ŸÖÖµÖ¾ÖÖ−Ö �úß †Ö•ÖÖ¤üß �úÖê •ÖÖ¯ÖÖ−Ö �úÖ ÃÖ´Ö£ÖÔ−Ö  
 (C) “Öß−Ö ´Öë •ÖÖ¯ÖÖ−Öß ¯ÖµÖÔ™ü�úÖë ¯Ö¸ü Æü´Ö»ÖÖ  
 (D) ¯ÖÏ¬ÖÖ−Ö´ÖÓ¡Öß �úÖê•Öã́ Öß «üÖ¸üÖ µÖÖÃÖæ�ãú−Öß ´Öšü �úß µÖÖ¡ÖÖ  
 
18. ‘•ÖÆü»Ö’ ×•ÖÃÖ�êú ÃÖã̧ ü8ÖÖ ÃÖî×−Ö�úÖë ÃÖê ÃÖ´²ÖÛ−¬ÖŸÖ Æîü : 
 (A) ‡•Ö¸üÖ‡»Ö �êú  (B) ×´ÖÄÖ �êú  (C) ÃÖß×¸üµÖÖ �êú  (D) •ÖÖò›Ôü−Ö �êú  
 
19. −ÖµÖß ×¾Ö¿¾Ö¾µÖ¾ÖÃ£ÖÖ �úÖ ×¾Ö¿»ÖêÂÖNÖ �ú¸ü−Öê �êú ×»ÖµÖê ‘¤üß ‹−›ü †Öò±ú ×ÆüÃ™Òüß ‹−›ü ¤üß »ÖÖÃ™ü ´Öî−Ö’ ×�úÃÖ−Öê ×»Ö7ÖÖ ? 
 (A) •ÖÖò•ÖÔ ›ü²»µÖæ. ²Öã¿Ö  (B) ±Ïëú×ÃÖÃÖ ±æú�æúµÖÖ´ÖÖ  
 (C) ÃÖê´Öã‹»Ö ¯Öß. ÆüÜ−™ü0Ö™ü−Ö  (D) ²Ö¸üÖ�ú †Öê²ÖÖ´ÖÖ  
 
20. ×−Ö´−Ö×»Ö×7ÖŸÖ ´Öë ×�úÃÖ−Öê µÖÆü �úÆüÖ ×�ú “†Ö−ŸÖ×¸ü�ú †ÛÃ£Ö¸üŸÖÖ ÃÖê ±ú−Ö ±îú»ÖÖµÖê ÃÖ¯ÖÔ, •ÖîÃÖÖ 7ÖŸÖ¸üÖ Æîü, ×•ÖÃÖê 7ÖŸ´Ö �ú¸ü−ÖÖ 

•Öºþ¸üß Æîü …” 
 (A) �úÖî×™ü»µÖ  (B) •Öê.‹±ú. �êú−Öê›üß  
 (C) ¾Öã›ü¸üÖê ×¾Ö»ÃÖ−Ö (D) ×−Ö×�úŸÖÖ õÖã¿“Öê¾Ö  
 
21. ÃÖÓµÖãŒŸÖ ¸üÖÂ™Òü «üÖ¸üÖ ´ÖÖ−Ö¾Ö †×¬Ö�úÖ¸ü �úß ÃÖÖ¾ÖÔ³ÖÖî×´Ö�ú ‘ÖÖêÂÖNÖÖ Æãü‡Ô : 
 (A) 10 ×¤üÃÖ´²Ö¸ü 1948 (B) 24 ×¤üÃÖ´²Ö¸ü 1948 
 (C) 24 ×ÃÖŸÖ´²Ö¸ü 1948 (D) 23 ×ÃÖŸÖ´²Ö ü̧ 1946 
 
22. ‘ŸÖß−Ö²Öß‘ÖÖ 0Ö×»ÖµÖÖ¸üÖ’ ‹�ú ×¾Ö¾ÖÖ×¤üŸÖ 8Öê¡Ö Æîü : 
 (A) ³ÖÖ¸üŸÖ †Öî̧ ü ¯ÖÖ×�úÃŸÖÖ−Ö �êú ²Öß“Ö  (B) ³ÖÖ¸üŸÖ †Öî̧ ü ²ÖÖÑ0Ö»ÖÖ¤êü¿Ö �êú ²Öß“Ö  
 (C) �ú−ÖÖ›üÖ †Öî̧ ü †´Öê×¸ü�úÖ �êú ²Öß“Ö (D) ³ÖÖ¸üŸÖ †Öî̧ ü ³Öæ™üÖ−Ö �êú ²Öß“Ö  
 
23. ×�úÃÖß ¸üÖÂ™Òü-¸üÖ•µÖ �úß ‘�ÎúÖÓ×ŸÖ�ú ÃÖÓÆü×ŸÖ’ ×•Ö−Ö�úß ×´ÖÁÖNÖ Æîü, ¾ÖÆü Æïü : 
 (A) •Ö−ÖÃÖÓ7µÖÖ †Öî̧ ü 8Öê¡Ö  (B) •Ö−ÖÃÖÓ7µÖÖ †Öî̧ ü ¯ÖÏÖ�éú×ŸÖ�ú ÃÖÖ¬Ö−Ö  
 (C) 8Öê¡Ö †Öî̧ ü ÃÖî×−Ö�ú 8Ö´ÖŸÖÖ  (D) †ÖÙ£Ö�ú 8Ö´ÖŸÖÖ †Öî̧ ü ¬Ö−Ö 
 
24. ‘ÃÖÓÛÃ£ÖŸÖ ¯Ö¡Ö�úÖ×¸üŸÖÖ’ »ÖÖê�ú ¯ÖÏµÖÖê0Ö ´Öë †Ö 0ÖµÖÖ  
 (A) 0Ö»±ú µÖã̈ ü I �êú ¤üÖî̧ üÖ−Ö …  (B) 0Ö»±ú µÖã̈ ü II �êú ¤üÖî̧ üÖ−Ö …  
 (C) †¸ü²Ö-‡•Ö¸üÖ‡»Ö µÖã̈ ü – 1967 �êú ¤üÖî̧ üÖ−Ö …  (D) µÖÖê´Ö ×�ú¯¯Öã̧ ü µÖã̈ ü, – 1973 �êú ¤üÖî¸üÖ−Ö …  
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25. Who proposed the idea of SAARC ? 
 (A) Rajiv Gandhi (B) J.R. Jayewardene 
 (C) Mujib-ur-Rehman (D) Benazir Bhutto 
 

26. ‘The UN Convention on the Status of Refugees’ was signed in the year 
 (A) 1951 (B) 1952 (C) 1949 (D) 1977 
 

27. ‘One for all, all for one’ is the core of  
 (A) Collective Security (B) Collective Defence 
 (C) Regional economic grouping (D) Military alliance 
 

28. Which countries constitute the ‘Golden Triangle’ for drug trafficking ? 
 (A) Myanmar, Thailand, Laos (B) Myanmar, Vietnam, Laos 
 (C) Indonesia, Vietnam, China (D) India, Pakistan and Iran 
 

29. Boundaries and frontiers of adjacent nation-states are safe, if 
 (A) there are open borders with unfriendly neighbours.  
 (B) there is forcible migration. 
 (C) there is free trade on the borders.  
 (D) there are no border disputes and inimical postures. 
 

30. Assertion (A) : People’s Republic of China poses security threats to ASEAN States 
through its strategic build-up in Myanmar. 

 Reason (R) : Because of expanding strategic interests of China. 
 In the context of above, identify the correct code : 
 (A) (A) is correct but (R) is false. 
 (B) Both are correct. 
 (C) Both are not correct. 
 (D) (A) is false but (R) is correct.  
 

31. Assertion (A) : Africa has seen eruption of ethnic violence in Post-Cold War period. 
 Reason (R) : There is external interferences in African Continent, which has 

given rise to ethnic violence in Africa. 
 In the context of above, identify the correct code : 
 (A) Both (A) and (R) are correct. 
 (B) (A) is correct but (R) is not the complete explanation. 
 (C) (A) is correct but (R) is false. 
 (D) (A) is false but (R) is correct. 
 

32. Match the landlocked countries of List-I with regions List-II in which they are 

located. Give your answer choosing correct code. 

 List-I List-II 

(a) Rwanda (1) South Africa 

(b) Chad (2) North East Africa 

(c) Lesotho (3) Central Africa 

(d) Ethiopia (4) East Africa 
 Codes : 

  (a) (b) (c) (d) 

 (A) (1) (2) (3) (4) 

 (B) (4) (2) (4) (1) 

 (C) (3) (4) (2) (3) 

 (D) (4) (3) (1) (2) 
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25. ÃÖÖ�Ôú ×−Ö´ÖÖÔNÖ �úÖ ×¾Ö“ÖÖ¸ü ×�úÃÖ�úÖ £ÖÖ ? 
 (A) ¸üÖ•Öß¾Ö 0ÖÖÑ¬Öß  (B) •Öê.†Ö¸ü. •ÖµÖ¾Ö¬ÖÔ−Ö  
 (C) ´Öã•Öß²Öã̧ ü ¸üÆü´ÖÖ−Ö  (D) ²Öê−Ö•Öß¸ü ³Öã¼üÖê  
 

26. ‘¿Ö¸üNÖÖÙ£ÖµÖÖë �êú ²ÖÖ¸êü ´Öë ÃÖÓµÖãŒŸÖ ¸üÖÂ™Òü �ú−¾Öê−ÃÖ−Ö’ ¯Ö¸ü �ú²Ö ÆüÃŸÖÖ8Ö¸ü Æãü†Ö ? 
 (A) 1951 (B) 1952 (C) 1949 (D) 1977 
 

27. ‘‹�ú ÃÖ²Ö�êú ×»ÖµÖê †Öî̧ ü ÃÖ²Ö ‹�ú �êú ×»ÖµÖê’ ´Öã7µÖ †Ö¬ÖÖ¸ü Æîü  
 (A) ÃÖÖ´Öæ×Æü�ú ÃÖã̧ ü8ÖÖ  (B) ÃÖÖ´Öæ×Æü�ú ¸ü8ÖÖ  
 (C) ÃÖÖ´Öæ×Æü�ú †ÖÙ£Ö�ú ¤ü»Ö  (D) ÃÖî−µÖ ÃÖÓ×¬Ö  
 

28. �úÖî−Ö-�úÖî−Ö ÃÖê ¤êü¿Ö ‘0ÖÖê»›êü−Ö ™ÒüÖµÖÓ0Ö»Ö’ �êú ºþ¯Ö ´Öë ´ÖÖ¤ü�ú ¦ü¾µÖ ¾µÖÖ¯ÖÖ¸ü ÃÖê ÃÖ´²ÖÛ−¬ÖŸÖ Æïüü ? 
 (A) ´µÖÖÑ́ ÖÖ¸ü, £ÖÖ‡Ô»Öï›ü, »ÖÖ†ÖêÃÖ …  (B) ´µÖÖÑ́ ÖÖ¸ü, ×¾Ö‹ŸÖ−ÖÖ´Ö, »ÖÖ†ÖêÃÖ …  
 (C) ‡−›üÖê−Öê×¿ÖµÖÖ, ×¾Ö‹ŸÖ−ÖÖ´Ö, “Öß−Ö …  (D) ³ÖÖ¸üŸÖ, ¯ÖÖ×�úÃŸÖÖ−Ö, ‡Ô̧ üÖ−Ö …  
 

29. ÃÖÓ»Ö0−Ö ¸üÖÂ™Òü-¸üÖ•µÖÖë �úß ÃÖß´ÖÖµÖë ‹¾ÖÓ ÃÖß´ÖÖÓŸÖ 8Öê¡Ö ÃÖã̧ ü×8ÖŸÖ Æïü, µÖ×¤ü  
 (A) 7Öã»Öß ÃÖß´ÖÖ †Öî̧ ü 0Öî̧ ü-¤üÖêÃŸÖÖ−ÖÖ ¯Ö›ÍüÖêÃÖß ÆüÖë …   
 (B) •Ö²Ö¸ü−Ö ¯Ö»ÖÖµÖ−Ö ÆüÖê …  
 (C) ÃÖß´ÖÖ¯ÖÖ¸ü ´ÖãŒŸÖ ¾µÖÖ¯ÖÖ¸ü ÆüÖê …  
 (D) ÃÖß´ÖÖ 8Öê¡ÖßµÖ ×¾Ö¾ÖÖ¤ü †Öî̧ ü ¿Ö¡ÖãŸÖÖ¯ÖæNÖÔ ºþ7Ö −Ö ÆüÖë …  
 

30. "ú£Ö−Ö (A) : “Öß−Öß »ÖÖê�úŸÖÖÛ−¡Ö�ú 0ÖNÖ¸üÖ•µÖ ´µÖÖÑ´ÖÖ¸ü ´Öë †¯Ö−Öê ÃÖÖ´Ö×¸ü�ú ŸÖîµÖÖ¸üß ÃÖê †Ö×ÃÖµÖÖ−Ö ¤êü¿ÖÖë �êú ×»ÖµÖê ÃÖã̧ ü8ÖÖ 
�úÖ ›ü¸ü ¯Öî¤üÖ �ú¸üŸÖÖ Æîü …  

 ŸÖ"Ôú (R) : �úÖ¸üNÖ “Öß−Ö �úÖ ÃÖÖ´Ö×¸ü�ú ×ÆüŸÖ ²ÖœÍüÖ Æîü …  
 ˆ¯ÖµÖãÔŒŸÖ �êú ÃÖÓ¤ü³ÖÔ ´Öë ÃÖÆüß �æú™ü �úß ¯ÖÆü“ÖÖ−Ö �úß×•Ö‹ : 
 (A) (A) ÃÖÆüß Æîüü »Öê×�ú−Ö (R) 0Ö»ÖŸÖ Æîü …  
 (B) ¤üÖê−ÖÖë ÃÖÆüß Æïü …  
 (C) ¤üÖê−ÖÖë ÃÖÆüß −ÖÆüà Æïü …  
 (D) (A) 0Ö»ÖŸÖ Æîü, »Öê×�ú−Ö (R) ÃÖÆüß Æîü …  
 

31. "ú£Ö−Ö (A) : †±Ïúß�úÖ −Öê •ÖÖŸÖßµÖ ØÆüÃÖÖ �úÖ ³Ö›Íü�úÖ¾Ö ×«üŸÖßµÖ ×¾Ö¿¾ÖµÖã̈ ü �êú ²ÖÖ¤ü ¤êü7ÖÖ Æîü …  
 ŸÖ"Ôú (R) : †±Ïúß�úß ´ÖÆüÖ¤êü¿Ö ´Öë ²ÖÖÆü¸üß ÆüÃŸÖ8Öê¯Ö Æîü ×•ÖÃÖ�êú �úÖ¸üNÖ •ÖÖŸÖßµÖ ØÆüÃÖÖ ²ÖœÍüß Æîü …  
 ˆ¯ÖµÖãÔŒŸÖ �êú ÃÖÓ¤ü³ÖÔ ´Öë ÃÖÆüß �æú™ü �úß ¯ÖÆü“ÖÖ−Ö �úß×•Ö‹ : 
 (A) ¤üÖê−ÖÖë (A) †Öî̧ ü (R) ÃÖÆüß Æïüü …  
 (B) (A) ÃÖÆüß Æîü, »Öê×�ú−Ö (R) �úß ¯Öæ̧ üß ¾µÖÖ7µÖÖ −ÖÆüà Æîü …  
 (C) (A) ÃÖÆüß Æîü, »Öê×�ú−Ö (R) 0Ö»ÖŸÖ Æîü …  
 (D) (A) 0Ö»ÖŸÖ Æîü, »Öê×�ú−Ö (R) ÃÖÆüß Æîü …  
 

32. Ã£Ö»ÖÖ¾Ö¹ý¨ü ¤êü¿Ö ×»ÖÃ™ü-I �úÖê 8Öê¡Ö ×»ÖÃ™ü-II •ÖÆüÖÑ ¾Öê †¾ÖÛÃ£ÖŸÖ Æïü, ÃÖê ÃÖã́ Öê»Ö �ú¸ëü … �úÖê›ü ÃÖê ÃÖÆüß •Ö¾ÖÖ²Ö �úÖ “ÖµÖ−Ö 
�ú¸ëü …  
 ×»ÖÃ™ü-I ×»ÖÃ™ü-II 
(a) ¹ý†Ö−›üÖ  (1) ¤ü×8ÖNÖ †±Ïúß�úÖ  
(b) “ÖÖ›ü (2) ˆ¢Ö¸ü-¯Öæ¾ÖÔ †±Ïúß�úÖ  
(c) »ÖêÃÖÖê£ÖÖê  (3) ´Ö¬µÖ †±Ïúß�úÖ  
(d) ‡×£ÖµÖÖê×¯ÖµÖÖ  (4) ¯Öæ¾Öá †±Ïúß�úÖ  

 "úÖê›ü : 
  (a) (b) (c) (d) 
 (A) (1) (2) (3) (4) 
 (B) (4) (2) (4) (1) 
 (C) (3) (4) (2) (3) 
 (D) (4) (3) (1) (2) 
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33. Assertion (A) : South Africa got rid of apartheid in 1992. 

 Reason (R) : Apartheid system became unsustainable due to changed 

international environment. 

 In the context of above, identify the correct code : 

 (A) Both (A) and (R) are correct. 

 (B) (A) is correct but (R) is not complete explanation. 

 (C) (A) is false but (R) is correct. 

 (D) (A) is correct but (R) is false. 
 

34. Match the following events (List-I) with the year of happening (List-II) by choosing 

correct code : 

      List-I List-II 

(a) Manchester Congress (1) 1910 

(b) Union of South Africa (2) 1945 

(c) Lusaka Non-aligned Conference (3) 1963 

(d) Organisation of African Unity (4) 1969 
 Codes : 

  (a) (b) (c) (d) 

 (A) (1) (2) (3) (4) 

 (B) (2) (1) (4) (3) 

 (C) (3) (3) (2) (2) 

 (D) (4) (4) (1) (1) 
 

35. Match the following countries with their respective capitals, as per code given below : 

(a) The Philippines (1) Bandar Seri Begawan 

(b) Laos (2) Vientiane 

(c) Brunei (3) Phnom Penh 

(d) Cambodia (4) Manila 
 Codes : 

  (a) (b) (c) (d) 

 (A) (1) (2) (3) (4) 

 (B) (3) (2) (4) (1) 

 (C) (2) (3) (1) (4) 

 (D) (1) (4) (3) (2) 
 

36. Match the Authors with their Books by choosing the correct code : 

(a) Henry Kissinger (1) Politics Among Nations 

(b) Samuel Huntington (2) Nuclear Weapons and Foreign Policy 

(c) Hans Morgenthau (3) Who we are ? 

(d) S.T. Possony (4) International Politics Between 

Democracy and Dictatorship 
 Codes : 

  (a) (b) (c) (d) 

 (A) (3) (1) (2) (4) 

 (B) (2) (3) (1) (4) 

 (C) (4) (3) (1) (2) 

 (D) (1) (3) (4) (2) 
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33. "ú£Ö−Ö (A) : ¤ü×8ÖNÖ †±Ïúß�úÖ ´Öë Ó̧ü0Ö³Öê¤ü �úß −Öß×ŸÖ 1992 ´Öë 7ÖŸ´Ö Æãü‡Ô …  
 ŸÖ"Ôú (R) : ¸Óü0Ö³Öê¤ü ¾µÖ¾ÖÃ£ÖÖ �úÖê ²Ö−ÖÖµÖê ¸ü7Ö−ÖÖ ´ÖãÛ¿�ú»Ö ÆüÖê 0ÖµÖÖ, ŒµÖÖë×�ú †−ŸÖ¸üÖÔÂ™ÒüßµÖ ´ÖÖÆüÖî»Ö ²Ö¤ü»Ö 0ÖµÖê …  
 ˆ¯ÖµÖãÔŒŸÖ �êú ÃÖÓ¤ü³ÖÔ ´Öë, ÃÖÆüß �æú™ü �úß ¯ÖÆü“ÖÖ−Ö �úß×•Ö‹ : 
 (A) ¤üÖê−ÖÖë (A) †Öî̧ ü (R) ÃÖÆüß Æïü …  
 (B) (A) ÃÖÆüß Æîü, »Öê×�ú−Ö (R) ÃÖ´¯ÖæNÖÔ ¾µÖÖ7µÖÖ −ÖÆüà Æîü …  
 (C) (A) 0Ö»ÖŸÖ Æîü, »Öê×�ú−Ö (R) ÃÖÆüß Æîü …  
 (D) (A) ÃÖÆüß Æîü, »Öê×�ú−Ö (R) 0Ö»ÖŸÖ Æîü …  
 

34. ×−Ö´−Ö×»Ö×7ÖŸÖ ‘Ö™ü−ÖÖ†Öë (×»ÖÃ™ü-I) �úÖê ‘Ö×™üŸÖ ÆüÖê−Öê �êú ¾ÖÂÖÖí (×»ÖÃ™ü-II) ÃÖê ×´Ö»ÖÖ−Ö �ú¸ëü †Öî̧ ü ÃÖÆüß �úÖê›ü �úÖ “ÖµÖ−Ö 
�ú¸üŸÖê Æãü‹ •Ö¾ÖÖ²Ö ¤ëü : 
  ×»ÖÃ™ü-I ×»ÖÃ™ü-II 
(a) ´Öê−Ö“ÖêÃ™ü¸ü �úÖÓ0ÖÏêÃÖ  (1) 1910 
(b) ¤ü×8ÖNÖ †±Ïúß�úÖ �úÖ ÃÖÓ‘Ö  (2) 1945 
(c) »ÖãÃÖÖ�úÖ 0Öã™ü×−Ö¸ü¯Öê8Ö ÃÖ´´Öê»Ö−Ö  (3) 1963 
(d) †±Ïúß�úÖ ‹�úŸÖÖ ÃÖÓ0Öšü−Ö  (4) 1969 

 "æú™ü : 
  (a) (b) (c) (d) 
 (A) (1) (2) (3) (4) 
 (B) (2) (1) (4) (3) 
 (C) (3) (3) (2) (2) 
 (D) (4) (4) (1) (1) 
 

35. ×−Ö´−Ö×»Ö×7ÖŸÖ ŸÖÖ×»Ö�úÖ†Öë �úÖê ÃÖã́ Öê×»ÖŸÖ �ú¸ëü : 
(a) ×±ú»Öß¯Öß−ÃÖ  (1) ²Ö−¤ü¸ü ÃÖȩ̂ üß ²Öê0ÖÖ¾ÖÖ−Ö  
(b) »ÖÖ†ÖêÃÖ  (2) ×¾ÖµÖê−Ö×¿ÖµÖê−Ö  
(c) ²ÖÎã−ÖÖ‡  (3) −ÖÖế Ö ¯Öê−Æü  
(d) �ú´²ÖÖê×›üµÖÖ  (4) ´Ö−Öß»ÖÖ  

 "æú™ü : 
  (a) (b) (c) (d) 
 (A) (1) (2) (3) (4) 
 (B) (3) (2) (4) (1) 
 (C) (2) (3) (1) (4) 
 (D) (1) (4) (3) (2) 
 

36. ÃÖÆüß �æú™ü �úÖ “ÖµÖ−Ö �ú¸ü�êú, ×−Ö´−Ö×»Ö×7ÖŸÖ »Öê7Ö�úÖë �úÖê ˆ−Ö�êú ¯ÖãÃŸÖ�ú ÃÖê ´Öê»Ö �ú¸üÖµÖë : 
(a) Æêü−Ö¸üß ×�ú×ÃÖ−•Ö¸ü  (1) ¯ÖÖê×»Ö×™üŒÃÖ ‹´ÖÖë0Ö −ÖêÃÖ−ÃÖ …  
(b) ÃÖế Öã†»Ö ÆüÜ−™ü0Ö™ü−Ö  (2) −µÖæÛŒ»ÖµÖ¸ü ¾Öê¯Ö−ÃÖ ‹−›ü ±úÖȩ̂ êü−Ö ¯ÖÖê×»ÖÃÖß …  
(c) ÆüÖÑÃÖ ´ÖÖ0Öì−£ÖÖˆ (3) Ææü ¾Öß †Ö¸ü ? 
(d) ‹ÃÖ.™üß. ¯ÖÖêÃÖÖê−Öß  (4) ‡−™ü¸ü−Öê¿Ö−Ö»Ö ¯ÖÖê×»Ö×™üŒÃÖ ×²Ö™ü×¾Ö−Ö ×›ü´ÖÖê�ÎêúÃÖß †Öî̧ ü 

×›üŒ™êü™ü¸ü×¿Ö¯Ö …  
 "æú™ü : 
  (a) (b) (c) (d) 
 (A) (3) (1) (2) (4) 
 (B) (2) (3) (1) (4) 
 (C) (4) (3) (1) (2) 
 (D) (1) (3) (4) (2) 
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37. Match the following from one List-I to another List-II by using the code given below : 

 List-I List-II 
(a) Morgenthau (1) Systems Theory 
(b) David Easton (2) Classical Theory 
(c) Hedley Bull (3) Realist Theory 
(d) Mortan Kaplan (4) Input-Output Analysis 

 Codes : 
  (a) (b) (c) (d) 
 (A) (2) (3) (1) (4) 
 (B) (3) (4) (2) (1) 
 (C) (4) (2) (1) (3) 
 (D) (3) (1) (4) (2) 
 

38. Identify the regional cooperation arrangements (List-I) with regions (List-II) by using 

the code below : 

 List-I List-II 
(a) ECOWAS (1) Central Eurasia 
(b) COMESA (2) Southern Africa 
(c) SCO (3) West Africa 
(d) SADC (4) Eastern and Southern Africa 

 Codes : 
  (a) (b) (c) (d) 
 (A) (1) (2) (3) (4) 
 (B) (2) (3) (2) (1) 
 (C) (3) (4) (1) (2) 
 (D) (4) (1) (4) (3) 
 

39. Given below are two statements, one labelled as Assertion (A) and the other as 
Reason (R) : 

 Assertion (A) : The international situation and the fundamental causes, which lead 
to war cannot be altered by mere intervention in the field of military 
technology. 

 Reason (R) : Arms are not the causes of war in a general sense. 
 In this context, which one of the following codes is correct ? 
 Codes : 
 (A) Both (A) and (R) are correct. 
 (B) (A) is correct, (R) is false. 
 (C) (A) is false, (R) is true. 
 (D) Both (A) and (R) are false. 
 

40. Write the correct order of events, in which they took place. Use the code given below : 
 (i) 9/11 against the United States. 
 (ii) Helsinki Conference on security and cooperation in Europe. 
 (iii) Indo-US Nuclear Deal. 
 (iv) Gulf War II 

 Codes : 
 (A) (i) (ii) (iii) (iv) 

 (B) (ii) (iii) (iv) (i) 

 (C) (ii) (i) (iv) (iii) 

 (D) (iv) (iii) (ii) (i) 



 

 D-9009 11  Paper-II 

37. −Öß“Öê ×¤üµÖê 0ÖµÖê �æú™ü �úÖ ¯ÖÏµÖÖê0Ö �ú¸üŸÖê Æãü‹, ×−Ö´−Ö×»Ö×7ÖŸÖ ×»ÖÃ™ü-I �úÖ ×»ÖÃ™ü-II ÃÖê ´Öê»Ö �ú¸üÖµÖë : 
 ×»ÖÃ™ü-I ×»ÖÃ™ü-II 
(a) ´ÖÖ0Öì−£ÖÖˆ  (1) ¾µÖ¾ÖÃ£ÖÖ¯Ö¸ü�ú ×ÃÖ¨üÖ−ŸÖ  
(b) ›êü×¾Ö›ü ‡Ã™ü−Ö  (2) ¯Ö¸ü´¯Ö¸üÖ0ÖŸÖ ×ÃÖ¨üÖ−ŸÖ  
(c) Æêü›ü»Öß ²Öã»Ö (3) µÖ£ÖÖ£ÖÔ¾ÖÖ¤üß ×ÃÖ¨üÖ−ŸÖ  
(d) ´ÖÖê™Ôü−Ö �úÖ¯»ÖÖ−Ö  (4) ‡−Ö¯Öã™ü-†Öˆ™ü¯Öã™ü ¾µÖÖ7µÖÖ  

 �æú™ü : 
  (a) (b) (c) (d) 
 (A) (2) (3) (1) (4) 
 (B) (3) (4) (2) (1) 
 (C) (4) (2) (1) (3) 
 (D) (3) (1) (4) (2) 
 
38. −Öß“Öê ×¤üµÖê 0ÖµÖê �æú™ü �úÖ ¯ÖÏµÖÖê0Ö �ú¸ü�êú, 8Öê¡ÖßµÖ ÃÖÆüµÖÖê0Ö ÃÖÓ0Öšü−ÖÖë (×»ÖÃ™ü-I) �úÖê ˆ−Ö�êú 8Öê¡Ö (×»ÖÃ™ü-II) ÃÖê ÃÖã́ Öê×»ÖŸÖ 

�úß×•Ö‹ : 
 ×»ÖÃ™ü-I             ×»ÖÃ™ü-II 
(a) ‡Ô ÃÖß †Öê ›ü²»µÖæ ‹ ‹ÃÖ  (1) ´Ö¬µÖ µÖæ̧ êü×ÃÖµÖÖ  
(b) �úÖế ÖêÃÖÖ  (2) ¤ü×8ÖNÖ †±Ïúß�úÖ  
(c) ‹ÃÖ ÃÖß †Öê  (3) ¯ÖÛ¿“Ö´Öß †±Ïúß�úÖ  
(d) ‹ÃÖ ‹ ›üß ÃÖß  (4) ¯Öæ¾Öá †Öî̧ ü ¤ü×8ÖNÖ †±Ïúß�úÖ  

 "æú™ü : 
  (a) (b) (c) (d) 
 (A) (1) (2) (3) (4) 
 (B) (2) (3) (2) (1) 
 (C) (3) (4) (1) (2) 
 (D) (4) (1) (4) (3) 
 
39. −Öß“Öê ¤üÖê ²ÖµÖÖ−Ö ˆÛ»»Ö×7ÖŸÖ Æïü, ×•ÖÃÖ´Öë ‹�ú �ú£Ö−Ö Æîü (A) †Öî̧ ü ¤æüÃÖ¸üÖ ŸÖ�Ôú (R) Æîü : 
 "ú£Ö−Ö (A) : †−ŸÖ¸üÖÔÂ™ÒüßµÖ ¾µÖ¾ÖÃ£ÖÖ †Öî̧ ü ´ÖÖî×»Ö�ú �úÖ¸üNÖ •ÖÖê µÖã̈ ü �êú ŸÖ¸ü±ú »Öê •ÖÖŸÖÖ Æîü, ˆÃÖê �êú¾Ö»Ö ÃÖî×−Ö�ú 

ÆüÃŸÖ8Öê¯Ö ÃÖê 7ÖŸ´Ö −ÖÆüà ×�úµÖÖ •ÖÖ ÃÖ�úŸÖÖ Æîü …  
 ŸÖ"Ôú  (R) : ÃÖÖ´ÖÖ−µÖŸÖ: Æü×£ÖµÖÖ¸ü ÆüÖê−ÖÖ Æüß µÖã̈ ü �úÖ �úÖ¸üNÖ −ÖÆüà Æîü …  
 ‡ÃÖ�êú ÃÖ−¤ü³ÖÔ ´Öë ×−Ö−´ÖÖÓ×�úŸÖ ´Öë ÃÖê �úÖî−Ö ÃÖÖ �úÖê›ü ÃÖÆüß Æîü ? 
 (A) ¤üÖê−ÖÖë (A) †Öî̧ ü (R) ÃÖÆüß Æïü …  
 (B) (A) ÃÖÆüß Æîü †Öî̧ ü (R) 0Ö»ÖŸÖ Æîü …  
 (C) (A) ÃÖÆüß −ÖÆüà Æîü, (R) ÃÖÆüß Æîü …  
 (D) ¤üÖê−ÖÖë (A) †Öî̧ ü (R) 0Ö»ÖŸÖ Æïü …  
 
40. −Öß“Öê ×¤üµÖê 0ÖµÖê �úÖê›ü �úß ÃÖÆüÖµÖŸÖÖ ÃÖê ×−Ö´−Ö×»Ö×7ÖŸÖ ‘Ö™ü−ÖÖ†Öë �êú ÃÖÆüß �Îú´Ö �úÖê ¯ÖÏÃŸÖãŸÖ �úß×•Ö‹ : 
 (i) 9/11 †´Öê×¸ü�úÖ �êú ×7Ö»ÖÖ±ú …  
 (ii) µÖæ̧ üÖê¯Ö �êú ÃÖã̧ ü8ÖÖ †Öî̧ ü ÃÖÆüµÖÖê0Ö �êú ×»ÖµÖê Æêü»ÖØÃÖ�úß ÃÖ´´Öê»Ö−Ö …  
 (iii) ³ÖÖ¸üŸÖ-†´Ö¸üß�úß −ÖÖ×³Ö�úßµÖ ÃÖ´Ö—ÖÖîŸÖÖ …  
 (iv) 7ÖÖ›Íüß µÖã̈ ü II … 
 "æú™ü : 
 (A) (i) (ii) (iii) (iv) 
 (B) (ii) (iii) (iv) (i) 
 (C) (ii) (i) (iv) (iii) 
 (D) (iv) (iii) (ii) (i) 
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41. Match the following on the basis of Table-I and Table-II. Use the code given below : 
 Table-I 

(Missiles) 
Table-II 

(Country) 
(1) Brahmos (a) USSR 
(2) Shaheen (b) USA 
(3) MX (c) India 
(4) SS-20 (d) Pakistan 

 Codes : 
  (a) (b) (c) (d) 
 (A) (1) (2) (3) (4) 
 (B) (4) (3) (1) (2) 
 (C) (2) (3) (4) (1) 
 (D) (3) (4) (2) (1) 
 

42. Identify the sequence of the following : 
 Use the code given below : 
 (i) CTBT 
 (ii) Indefinite extension of the NPT 
 (iii) Declaration on Principles for Interim Government in Palestine.  
 (iv) INF Treaty between the USA and the USSR. 
 Codes : 
 (A) (i) (ii) (iii) (iv) 
 (B) (ii) (iii) (iv) (i) 
 (C) (iii) (iv) (i) (ii) 
 (D) (iv) (iii) (ii) (i) 
 

43. Match the Secretaries of State with the Presidents of America. Use the code given 
below : 
(a) Ronald Reagan (1) Colin Powell 
(b) George Bush (2) Hanry Kissenger 
(c) Bill Clinton (3) James Baker 
(d) Richard Nixon (4) Madeline Albright 

 Codes : 
  (a) (b) (c) (d) 
 (A) (3) (2) (1) (4) 
 (B) (4) (3) (2) (1) 
 (C) (3) (1) (4) (2) 
 (D) (2) (4) (3) (1) 
 

44. Arrange the following concepts in the chronological order in which they were 
propounded. Give the answer by using the code below : 

 (i) African unity. 
 (ii) New International Economic Order 
 (iii) Pan-Africanism 
 (iv) Conferences of Independent African States.  
 Codes : 
 (A) (i) (ii) (iii) (iv) 
 (B) (iii) (iv) (i) (ii) 
 (C) (ii) (iii) (i) (iv) 
 (D) (iv) (i) (iii) (ii) 
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41. ×−Ö´−Ö×»Ö×7ÖŸÖ ŸÖÖ×»Ö�úÖ-I �úÖê ŸÖÖ×»Ö�úÖ-II ÃÖê ÃÖã́ Öê×»ÖŸÖ �úß×•Ö‹ : 
 ŸÖÖ×»Ö"úÖ-I 

(×´ÖÃÖÖ‡»Ö) 
ŸÖÖ×»Ö"úÖ-II 

(¤êü¿Ö) 
(1) ²ÖÎÉÖêÃÖ  (a) ºþÃÖ  
(2) ¿ÖÖÆüß−Ö  (b) †´Öê×¸ü�úÖ  
(3) ‹´Ö. ‹ŒÃÖ  (c) ³ÖÖ¸üŸÖ  
(4) ‹ÃÖ ‹ÃÖ-20 (d) ¯ÖÖ×�úÃŸÖÖ−Ö 

 "æú™ü : 
  a b c d 
 (A) (1) (2) (3) (4) 
 (B) (4) (3) (1) (2) 
 (C) (2) (3) (4) (1) 
 (D) (3) (4) (2) (1) 
 

42. −Öß“Öê ×¤üµÖê 0ÖµÖê �æú™ü �úÖ ¯ÖÏµÖÖê0Ö �úß×•Ö‹ †Öî̧ ü ×−Ö´−Ö×»Ö×7ÖŸÖ �úÖê �Îú´Ö²Ö¨ü �úß×•Ö‹ : 
 (i) ÃÖß. ™üß. ²Öß. ™üß. 
 (ii) ‹−Ö. ¯Öß. ™üß. �úÖ †×−ÖÛ¿“ÖŸÖ�úÖ»Öß−Ö ×¾ÖÃŸÖÖ¸ü …  
 (iii) ×±ú»ÖßÃŸÖß−Ö ´Öë †−ŸÖ×¸ü´Ö ÃÖ¸ü�úÖ¸ü 0Öšü−Ö �êú ×ÃÖ¨üÖ−ŸÖÖë �úß ‘ÖÖêÂÖNÖÖ …  
 (iv) †´Öê×¸ü�úÖ †Öî̧ ü ºþÃÖ �êú ²Öß“Ö †Ö‡Ô. ‹−Ö. ‹±ú. ÃÖÓ×¬Ö …  
 "æú™ü : 
 (A) (i) (ii) (iii) (iv) 
 (B) (ii) (iii) (iv) (i) 
 (C) (iii) (iv) (i) (ii) 
 (D) (iv) (iii) (ii) (i) 
 

43. †´Öê×¸ü�úß ¸üÖÂ™Òü¯Ö×ŸÖµÖÖë �úÖê ˆ−Ö�êú †¯Ö−Öê ÃÖê�Îêú™ü¸üß †Öò±ú Ã™êü™ü ÃÖê ÃÖã´Öê×»ÖŸÖ �úß×•Ö‹ … −Öß“Öê ×¤üµÖê 0ÖµÖê �æú™ü �úÖ ¯ÖÏµÖÖê0Ö 
�úß×•Ö‹ : 
(a) ¸üÖê−ÖÖ»›ü ¸üß0Ö−Ö  (1) �úÖê×»Ö−Ö ¯ÖÖê¾Öê»Ö  
(b) •ÖÖò•ÖÔ ²Öã¿Ö (2) Æêü−Ö¸üß ×�ú×ÃÖ−•Ö¸ü  
(c) ×²Ö»Ö ÛŒ»Ö−™ü−Ö  (3) •Öê´ÃÖ ²Öê�ú¸ü  
(d) ×¸ü“ÖÖ›Ôü ×−ÖŒÃÖ−Ö  (4) ´Öê¤êü×»Ö−Ö †»Ö²ÖÎÖ‡™ü  

 "æú™ü : 
  (a) (b) (c) (d) 
 (A) (3) (2) (1) (4) 
 (B) (4) (3) (2) (1) 
 (C) (3) (1) (4) (2) 
 (D) (2) (4) (3) (1) 
 

44. −Öß“Öê �êú �æú™ü �úß ÃÖÆüÖµÖŸÖÖ ÃÖê ×−Ö´−Ö×»Ö×7ÖŸÖ ×¾Ö“ÖÖ¸üÖë �úÖê �Îú´Ö²Ö¨ü �úß×•Ö‹ : 
 (i) †±Ïúß�úß ÃÖÓ‘Ö …  
 (ii) −ÖµÖß †−ŸÖ¸üÖÔÂ™ÒüßµÖ †ÖÙ£Ö�ú ¾µÖ¾ÖÃ£ÖÖ …  
 (iii) †×7Ö»Ö-†±Ïúß�úÖ¾ÖÖ¤ü …  
 (iv) Ã¾ÖŸÖÓ¡Ö †±Ïúß�úß ¤êü¿ÖÖë �úÖ ÃÖ´´Öê»Ö−Ö …  
 "æú™ü : 
 (A) (i) (ii) (iii) (iv) 
 (B) (iii) (iv) (i) (ii) 
 (C) (ii) (iii) (i) (iv) 
 (D) (iv) (i) (iii) (ii) 
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45. Assertion (A) : China is now deeply interested in West Asia because of its growing 
energy needs. 

 Reason (R) : To keep control over its Muslim population in Xinjiang Province, 
China is forging closer links with West Asian countries.  

 Codes : 
 (A) Both (A) and (R) are true. (B) Both (A) and (R) are false. 
 (C) (R) is true, but (A) is false (D) (A) is true, but (R) is false. 
 

Go through the following passage and answer questions 46 to 50 as you understand correctly 
from the passage : 
 

On etymological grounds, our current use of the word ‘colony’ is not entirely correct. In the 
original Greek sense, a colony was an independent city founded by emigrants, and several 
such colonies were established by Greeks in the Mediterranean basin. Later, when Rome 
became a great power, she also established colonies in various parts of her empire within and 
outside the Mediterranean basin. Unlike the Greek ones, the Roman colonies consisted of 
settlements made up usually of veterans in conquered territory acting as a garrison. When, 
many centuries later, Britain and other European nations began to establish colonies in 
America and elsewhere, they were essentially settlements in the Greek sense, inasmuch as 
they represented transplantations of people from the mother country to distant places. 
 

 But apart from these genuine colonies, many European nations established themselves 
in a number of tropical countries all around the world not with a view to settlement but with a 
view to trade and economic exploitation. Quite contrary to the original meaning of the term, 
such outposts of empire were also described as colonies, and indeed it is in this sense that the 
word ‘colony’ is now most commonly used and understood. 
 

 Altogether, three different types of colonies are now generally distinguished: colonies 
of settlement, colonies of exploitation, and strategic colonies. In colonies of settlement the 
population consists predominantly of people from the mother country, while in colonies of 
exploitation the bulk of the population are indigenous to the colony itself, although political 
control is in the hands of aliens. In such circumstances it is hardly appropriate to describe the 
controlling power as the mother country, and the term ‘metropolitan country’ which has 
gained currency in recent years is much more suitable. Strategic colonies are strictly speaking 
places like Gibraltar, Aden, Hong Kong and Guam, whose principal value to the metropolitan 
country in control lies in their strategic location. 
 

46. The core message contained in the passage is 
 (A) Evolution of the concept of colony.  
 (B) Distinction between ancient and medieval colonies. 
 (C) Different purposes of establishing colonies.  
 (D) Patterns of colonial domination. 
 

47. Who among the following inhabited colonies established by Greeks ? 
 (A) Migrants  
 (B) Garrison veterans 
 (C) Transplanted population from another country  
 (D) Local population 
 

48. On the basis of the above passage, how many types of colonies could you identify ? 
 (A) Three (B) Two (C) Five (D) One 
 

49. What values do strategic colonies have for a controlling power ? 
 (A) Economic value (B) Political value 
 (C) Strategic value  (D) Demographic value 
 

50. What is the distinguishing mark of colony for settlement ? 
 (A) Indigenous population  
 (B) Refugees 
 (C) Transplantation of people from mother to distant people.  
 (D) Migrants 

_______________ 
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45. "ú£Ö−Ö (A) : “Öß−Ö �úß ¯ÖÛ¿“Ö´Ö ‹×¿ÖµÖÖ ´Öë †×³Öºþ×“Ö ²ÖœÍüß Æîü ŒµÖÖë×�ú ‰ú•ÖÖÔ �úß •Öºþ¸üŸÖ ²ÖœÍü 0ÖµÖß Æîü …  
 ŸÖ"Ôú (R) : ×•Ö−Ö×•ÖµÖÖÑ0Ö ´Öë ´ÖãÃÖ»Ö´ÖÖ−Ö •Ö−ÖÃÖ´Öã¤üÖµÖ ¯Ö¸ü ×−ÖµÖÓ¡ÖNÖ ¸ü7Ö−Öê �êú ×»ÖµÖê “Öß−Ö ¯ÖÛ¿“Ö´Ö ‹×¿ÖµÖÖ ÃÖê ÃÖ´²Ö−¬Ö 

²ÖœÍüÖ ¸üÆüÖ Æîü …  
 "æú™ü : 
 (A) (A) †Öî̧ ü (R) ¤üÖê−ÖÖë ÃÖÆüß Æïü …  (B) (A) †Öî̧ ü (R) ¤üÖê−ÖÖë 0Ö»ÖŸÖ Æïü …  
 (C) (R) ÃÖÆüß Æîü, »Öê×�ú−Ö (A) 0Ö»ÖŸÖ Æîü …  (D) (A) ÃÖÆüß Æîü, »Öê×�ú−Ö (R) 0Ö»ÖŸÖ Æîü …  
 

×−Ö´−Ö×»Ö×7ÖŸÖ †¾ÖŸÖ¸üNÖ �úÖê ¯ÖœÍü�ú¸ü ¯ÖÏ¿−Ö 46 ÃÖê 50 ŸÖ�ú �êú ¯ÖÏ¿−ÖÖë �úÖ ˆ¢Ö¸ü ¤üß×•Ö‹ : 
 ¾µÖãŸ¯Ö×¢Ö �êú †Ö¬ÖÖ¸ü ¯Ö¸ü, ‘�úÖò»ÖÖê−Öß’ ¿Ö²¤ü �úÖ ¾ÖŸÖỐ ÖÖ−Ö ¯ÖÏµÖÖê0Ö ×²Ö»�ãú»Ö šüß�ú −ÖÆüà Æîü … ´Öæ»Ö 0ÖÏß�ú †£ÖÔ ´Öë �úÖò»ÖÖê−Öß 
¯ÖÏ¾ÖÖ×ÃÖµÖÖë «üÖ¸üÖ Ã£ÖÖ×¯ÖŸÖ Ã¾ÖŸÖÓ¡Ö ¿ÖÆü¸ü £ÖÖ, †Öî̧ ü ³Öæ´Ö¬µÖ ÃÖÖ0Ö¸ü ²Öê×ÃÖ−Ö ´Öë 0ÖÏß�ú »ÖÖê0ÖÖë «üÖ¸üÖ Ã£ÖÖ×¯ÖŸÖ �úß 0ÖµÖß ‹êÃÖß ²ÖÆãüŸÖ ÃÖß 
�úÖò»ÖÖê×−ÖµÖÖÑ £Öà … ²ÖÖ¤ü ´Öë •Ö²Ö ¸üÖế Ö ‹�ú ²Ö›Íüß ¿ÖÛŒŸÖ ²Ö−ÖÖ ŸÖÖê ˆ−ÆüÖë−Öê ³Öǽ Ö¬µÖ ÃÖÖ0Ö¸ü ²Öê×ÃÖ−Ö �êú ²ÖÖÆü¸ü ŸÖ£ÖÖ †¯Ö−Öê ÃÖÖ´ÖÏÖ•µÖ �êú ²ÖÆãüŸÖ 
ÃÖê †Ö−ŸÖ×¸ü�ú ³ÖÖ0ÖÖë ´Öë ³Öß �úÖò»ÖÖê×−ÖµÖÖÑ Ã£ÖÖ×¯ÖŸÖ �úà … ×¾Ö×•ÖŸÖ 8Öê¡ÖÖë ´Öë 0ÖÏß�ú »ÖÖê0ÖÖë ÃÖê ×³Ö−−Ö ÃÖî×−Ö�ú �êú ºþ¯Ö ´Öë �úÖµÖÔ �ú¸ü−Öê ¾ÖÖ»Öê 
¯ÖÏÖµÖ: ³ÖæŸÖ¯Öæ¾ÖÔ ÃÖê−ÖÖ−Öß »ÖÖê0ÖÖë �úß ²ÖÛÃŸÖµÖÖÑ £Öà … †−Öê�ú ¿ÖŸÖÖÛ²¤üµÖÖë �êú ²ÖÖ¤ü •Ö²Ö ‡Ó0Ö»Öî−›ü †Öî̧ ü †−µÖ µÖæ¸üÖê¯ÖßµÖ ¤êü¿ÖÖë −Öê †´Öê×¸ü�úÖ 
ŸÖ£ÖÖ †−µÖ •Ö0ÖÆüÖë ´Öë �úÖò»ÖÖê×−ÖµÖÖÑ Ã£ÖÖ×¯ÖŸÖ �ú¸ü−ÖÖ ¿Öãºþ ×�úµÖÖ, ¾Öê ²ÖÛÃŸÖµÖÖÑ ¾ÖÃŸÖãŸÖ: 0ÖÏß�ú †Ö¬ÖÖ¸ü ¯Ö¸ü £Öà … ¾Öê »ÖÖê0ÖÖë �úß †¯Ö−Öê 
´ÖÖŸÖé¤êü¿ÖÖë ÃÖê ¤æü¸ü¾ÖŸÖá Ã£ÖÖ−Ö ´Öë Ã£ÖÖ×¯ÖŸÖ ÆüÖê−Öê �úÖ ¯ÖÏ×ŸÖ×−Ö×¬ÖŸ¾Ö �ú¸üŸÖß £Öà …  
 ¯Ö¸ü−ŸÖã ‡−Ö ×¾Ö¿Öã̈ ü �úÖò»ÖÖê×−ÖµÖÖë ÃÖê †»Ö0Ö, �ú‡Ô µÖæ̧ üÖê¯ÖßµÖ »ÖÖê0Ö †Ö¾ÖÖÃÖ �úß ¥üÛÂ™ü ÃÖê −ÖÆüà, ²ÖÛ»�ú ¾µÖÖ¯ÖÖ¸ü †Öî̧ ü †ÖÙ£Ö�ú 
¿ÖÖêÂÖNÖ �úß ¥üÛÂ™ü ÃÖê ×¾Ö¿¾Ö �êú ˆÂNÖ�ú×™ü²ÖÓ¬ÖßµÖ ¤êü¿ÖÖë ´Öë “ÖÖ¸üÖë ŸÖ¸ü±ú ²ÖÃÖ 0ÖµÖê … ‡ÃÖ�êú ×²Ö»�ãú»Ö ×¾Ö¯Ö¸üßŸÖ, µÖ×¤ü ´Öæ»Ö ¿Ö²¤ü �úÖê ¤êü7Öë 
ŸÖÖê ÃÖÖ´ÖÏÖ•µÖ �êú ‡ÃÖ ¯ÖÏ�úÖ¸ü �úß “ÖÖî×�úµÖÖë �úÖê ³Öß �úÖò»ÖÖê−Öß ´ÖÖ−ÖÖ 0ÖµÖÖ ŸÖ£ÖÖ ¾ÖÖÃŸÖ¾Ö ´Öë ‡ÃÖß †£ÖÔ ´Öë ‘�úÖò»ÖÖê−Öß’ †²Ö ¯ÖÏÖµÖ: ¯ÖÏµÖÖê0Ö ´Öë 
†Ö ¸üÆüÖ Æîü ŸÖ£ÖÖ ‡ÃÖß ºþ¯Ö ´Öë ÃÖ´Ö—ÖÖ •ÖÖ ¸üÆüÖ Æîü …  
 ¯ÖæNÖÔºþ¯ÖêNÖ †²Ö ¯ÖÏÖµÖ: ŸÖß−Ö ¯ÖÏ�úÖ ü̧ �êú ˆ¯Ö×−Ö¾Öê¿ÖÖë ´Öë ³Öê¤ü ×�úµÖê •ÖÖŸÖê Æïü … †Ö¾ÖÖÃÖßµÖ ˆ¯Ö×−Ö¾Öê¿Ö, ¿ÖÖêÂÖNÖ �êú ˆ¯Ö×−Ö¾Öê¿Ö ŸÖ£ÖÖ 
ÃÖÖ´Ö× ü̧�ú ´ÖÆü¢¾Ö �êú ˆ¯Ö×−Ö¾Öê¿Ö … †Ö¾ÖÖÃÖßµÖ ˆ¯Ö×−Ö¾Öê¿ÖÖë ´Öë †Ö²ÖÖ¤üß ´Öã7µÖ ºþ¯Ö ÃÖê ´ÖÖŸÖé³Öæ×´Ö �êú »ÖÖê0ÖÖë �úß ÆüÖêŸÖß £Öß, •Ö²Ö×�ú ¿ÖÖêÂÖNÖ �êú 
ˆ¯Ö×−Ö¾Öê¿ÖÖë ´Öë †Ö²ÖÖ¤üß †×¬Ö�úÖÓ¿ÖŸÖ: Ã£ÖÖ−ÖßµÖ ×−Ö¾ÖÖ×ÃÖµÖÖë �úß Æüß ÆüÖêŸÖß £Öß, †Öî̧ ü ü̧Ö•Ö−Öß×ŸÖ�ú ×−ÖµÖÓ¡ÖNÖ ×¾Ö¤êü×¿ÖµÖÖë �êú ÆüÖ£Ö ´Öë ÆüÖêŸÖÖ £ÖÖ … ‡−Ö 
¯Ö× ü̧ÛÃ£Ö×ŸÖµÖÖë ´Öë ×−ÖµÖÓ×¡ÖŸÖ �ú ü̧−Öê¾ÖÖ»Öß ÃÖ¢ÖÖ �úÖê ´ÖÖŸÖé¤êü¿Ö �êú ºþ¯Ö ´Öë †Ó0Öß�úÖ ü̧ �ú ü̧−ÖÖ ´ÖãÛ¿�ú»Ö Æîü †Öî̧ ü ˆÃÖê ‘´ÖÆüÖ−Ö0Ö ü̧ßµÖ ¤êü¿Ö’ •ÖÖê ²ÖÖê»Ö“ÖÖ»Ö 
´Öë ‡−Ö ¾ÖÂÖÖí ´Öë ²ÖÆãü¬ÖÖ ¯ÖÏµÖÖê0Ö ÆüÖêŸÖÖ Æîü, †×¬Ö�ú ˆ¯ÖµÖãŒŸÖ Æîü … ÃÖÖ´Ö× ü̧�ú ˆ¯Ö×−Ö¾Öê¿ÖÖë ´Öë ×•Ö²ÖÎÖ»™ü̧ ü, ‹›ü−Ö, ÆüÖÓ0Ö�úÖÓ0Ö ŸÖ£ÖÖ 0Öã†Ö´Ö •ÖîÃÖê Ã£ÖÖ−Ö 
†ÖŸÖê Æïü, ×•Ö−Ö�úÖ ¯ÖÏ´Öã7Ö ´ÖÆü¢¾Ö ×−ÖµÖÓ¡ÖNÖ�úÖ ü̧ß ´ÖÆüÖ−Ö0Ö̧ üßµÖ ¤êü¿Ö �êú ×»ÖµÖê ˆ−Ö�úß ÃÖÖ´Ö× ü̧�ú †¾ÖÛÃ£Ö×ŸÖ �êú �úÖ ü̧NÖ Æîü …  
 

46. ‡ÃÖ †¾ÖŸÖ¸üNÖ �úÖ ´Öæ»Ö ÃÖÓ¤êü¿Ö Æîü  
 (A) ˆ¯Ö×−Ö¾Öê¿Ö �úß †¾Ö¬ÖÖ ü̧NÖÖ �úß ¾µÖãŸ¯Ö×¢Ö …  
 (B) ¯ÖÏÖ“Öß−Ö ‹¾ÖÓ ´Ö¬µÖ�úÖ»Öß−Ö ˆ¯Ö×−Ö¾Öê¿ÖÖë ´Öë ×¾Ö³Öê¤ü …  
 (C) ˆ¯Ö×−Ö¾Öê¿ÖÖë �úß Ã£ÖÖ¯Ö−ÖÖ �êú ×¾Ö×³Ö−−Ö ˆ§êü¿µÖ … 
 (D) †Öî¯Ö×−Ö¾Öê×¿Ö�ú ¯ÖÏ³ÖãŸ¾Ö �úÖ ¯ÖÏÖºþ¯Ö …  
 

47. ×−Ö´−ÖÖÓ×�úŸÖ ´Öë ÃÖê �úÖî−Ö 0ÖÏßÃÖ �êú «üÖ¸üÖ Ã£ÖÖ×¯ÖŸÖ ˆ¯Ö×−Ö¾Öê¿ÖÖë �êú ×−Ö¾ÖÖÃÖß £Öê ? 
 (A) ¯ÖÏ¾ÖÖÃÖß•Ö−Ö …  
 (B) 0ÖœÍü ÃÖê−ÖÖ−Öß …  
 (C) †¯Ö−Öê ¤êü¿ÖÖë ÃÖê Ã£ÖÖ−ÖÖ−ŸÖ×¸üŸÖ »ÖÖê0ÖÖë �úß †Ö²ÖÖ¤üß …  
 (D) Ã£ÖÖ−ÖßµÖ •Ö−ÖÃÖ´Öã¤üÖµÖ … 
 

48. ˆ¯ÖµÖãÔŒŸÖ †¾ÖŸÖ¸üNÖ �êú †Ö¬ÖÖ¸ü ¯Ö¸ü, †Ö¯Ö ×�úŸÖ−Öê ¯ÖÏ�úÖ¸ü �êú ˆ¯Ö×−Ö¾Öê¿ÖÖë �úß ¯ÖÆü“ÖÖ−Ö �ú¸üŸÖê Æïü ? 
 (A) ŸÖß−Ö  (B) ¤üÖê  (C) ¯ÖÖÑ“Ö (D) ‹�ú  
 

49. ×−ÖµÖÓ¡ÖNÖ�úÖ ü̧ß ÃÖ¢ÖÖ �êú ×»ÖµÖê ÃÖÖ´Ö×¸ü�ú ˆ¯Ö×−Ö¾Öê¿ÖÖë �úÖ ŒµÖÖ ´ÖÆü¢¾Ö Æîü ? 
 (A) †ÖÙ£Ö�ú ´ÖÆü¢¾Ö …  (B) ¸üÖ•Ö−Öî×ŸÖ�ú ´ÖÆü¢¾Ö …  
 (C) ÃÖÖ´Ö×¸ü�ú ´ÖÆü¢¾Ö  (D) •Ö−ÖÃÖÖÓÛ7µÖ�úßµÖ ´ÖÆü¢¾Ö …  
 

50. ¾ÖÖÃÖ �êú ×»ÖµÖê ˆ¯Ö×−Ö¾Öê¿Ö �úß ×¾Ö×¿ÖÂ™ü ¯ÖÆü“ÖÖ−Ö ŒµÖÖ Æîü ? 
 (A) ¤êü¿Öß •Ö−ÖÃÖÓ7µÖÖ …  
 (B) ¿Ö¸üNÖÖ£Öá …  
 (C) †¯Ö−Öê ´ÖÖŸÖé ¤êü¿Ö ÃÖê Ã£ÖÖ−ÖÖ−ŸÖ×¸üŸÖ »ÖÖê0ÖÖë �úß †Ö²ÖÖ¤üß …   
 (D) ¯ÖÏ¾ÖÖÃÖß  

____________ 
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